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RYAN INTERNATIONAL SCHOOL

Maths worksheet class 111

Fill in the blanks

10x 10 =
3x =3

x 3429 = 3429
9x =9000
30x 100 =
9x60=
12x 70 =
11x20=
16 x = 1600
24 x 100 =

I1 ) Write true or false.

1. The answer in multiplication is called the sum. -

2. when anumber is multiplied by 0, the answer is always 0.

V) Word Problems
1. Raju bought 36 packets of biscuits. He gave 12 packets to his friend. How many biscuits are
left?

2. There are 285 sweets in a tin. Rohit and his friends ate 25 sweet. How many sweets are there
in tin?
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